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[V—X]

#include<stdio.h>

int main(void)

{

(]
2 4 8

inti[10] = {2};

int num;

Ii[num]D ZRERDRFDT—RIZAND
for(num=0; num<10;num++){
printf(“%5d”,i[num]);
i[num+1] = i[num]+i[num];

}

return 0;
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[vV—2Z]
{
int a[2][2] = {{1,2},{3,4}};
int b[2][2] = {{2,3},{4,5}};
int ans[2][2];
int x,y; /147 5l
for(x=0; x<2; x++){
for(y=0; y<2; y++){
ans[x][y] = (a[x][y] *+ b[x][y);
}
}
printf(“%3d%3d¥n%3d%3d¥n”,ans[0][0],ans[0][ I ],ans[ 1][0],ans[ ][ 1]);
return 0;
}
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char X i
int A 2
long BREHE 4
float BHEFERE/NS AR 4
double EREREE/ AT 8
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int main(void)

{

IEBEE

int a[2][3]={0};

int b[3][2]={0);

int ans[2][2] = {0};

int i,j,k,temp; //templE & —BF{R7E

114&HA

printf("T5lla¥n");

for(i=0;i<2;i++){

for(j=0;j<3;j++){

printf("%d{T%d 5 B : ",ij);
scanf("%d",&a[i][j]);

}
printf("{TFlb¥n");
for(i=0;i<3;i++){
for(j=0;j<2;j++){
printf("%d{T%d 5 B : ",ij);
scanf("%d",&bli][j]);

IIEtE
for(i=0;i<2;i++){
for(j=0;j<2;j++){
temp = 0;
for(k=0;k<3;k++){
temp += afi][k]*b[K][];
}

ansli][j] = temp;

}

1R R
printf("%3d%3d¥n%3d%3d¥n",ans[0][0],ans[0][1],ans[1][0],ans[1][1]);
return O;



